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instructions (Read it carefully.)
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1. Fill up your Examination Registration number (08 digits, i.e. 325xxxxx) and personal

details in allotted space on OMR Sheet. Please follow the correct method for darkening
the circle of your choice as mentioned in OMR sheet. Your answer is to be marked on
OMR sheet by “filling/darkening the circle” with BLACK INK Ball Point Pen only.
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. No extra OMR Sheet shall be provided to you in any circumstances. If the OMR Sheet is
found defective, please inform the invigilator at the beginning of the examination.
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_ You have to answer all 50 questions. Each question carries 2 marks. There is negative
marking of % mark for each wrong answer. Unattempted questions will be evaluated as
‘0' mark. All the questions will be both in Bengali and £nglish languages & there will be
four answer options (from A to D) for each question. You have to choose only one
correct answer and mark it. Few blank sheets are included at the end of this booklet for
rough work.
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_ You are not allowed to keep mobile phone or any other electronic gadgets including
calculator with you but geometry box is allowed.
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. Adoption of any unfair means will cancel the applicants’ candidature. No request in this

issue will be entertained.
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. Before leaving the examination hall, you must submit the OMR sheet to the invigilator.
You may take the question booklet after the examination.
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. Please read all the instructions provided in the OMR Sheet.
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Each question has four options (A, B, C and D) for answer. Please choose the

correct option and fill the appropriate circle with black ink ball point pen in the
OMR sheet.
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A vertical cylinder contains a liquid up to a certain height. The pressure at a point on
the horizontal surface of the bottomn of the cylinder does not depend on —

A. Height of the liquid column

B. Density of the liquid

C. Surface area of the hottom

D. Temperature of the room where the liquid is kept
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Two boxes A and B are made of same material and are having the same masses. One
has a cubical shape with all sides equal to ‘a’ and the other is of the shape of a
rectangular parallelepiped with its length, breadth and height equal to *a’, ‘b’ and ‘¢’
respectively. They are kept on the rough surface of a table. Same force F is applied
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hortzontally to both the boxes separately. Which of the following options 18

approprate m (s context”

A A s found o move but not 1§

13, 13 as tound to move but not A

Co A and B both move but with different nccelerations
DA and B both remams stationary
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A student exerts a constant horizontal force on-a heavy box to move it. As a result, the
box moves across a rough horizontal floor at & constant speed vo. The constant
horizontal force applied by the student —

is equal to the weight of the box.

is greater than the weight of the box.

has the same magnitude as the total force which resists the motion of the box.
has a magnitude greater than the total force which resists the motion of the box.
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According to Newton's law of gravitation, every point mass attracts every other point
mass in this universe. This means, you are attracting your friend sitting in this
examination hall, and your friend is attracting you at the same time. However, neither
you nor your friend experience this attraction. Which one of the following statements

explains this the best?

A. As many students are attracting one another, all these forces are being cancelled,
and there is no net effect

B. As the force of gravitation between two persons standing on earth is extremely
weak to produce an acceleration that human beings can feel, you don’t experience
this attractive force

C. Force of gravitation acts between different celestial objects not between terrestrial
objects on the earth’s surface

D. As the earth itself is spinning and there is a centrifugal force acting on each object
on earth, we can’t feel the attractive gravitational force between any two of us
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While cutting thermocol sheets with a knife, small pieces of thermocol stick to the
knife. This happens because —

A. The thermocol pieces and the knife acquire electric charge of opposite nature

B. The knife acquites electric charge which causes electric induction in the thermocol
pieces

C. A magnetic force develops in the knife as well as in the thermocol piece

D. Thermocol has some adhesive material inside it
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Two blocks A and B, made of different materials, are at temperatures Ta and Ty (Ta >

Tg) respectively. This means

A. A contains more heat than B does

B. Specific heat capacity of A is more than that of B

C. Heat flows from block A to block B when A and B are brought in contact
D. Heat flows from block B to block A when A and B are brought in contact
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When ice melts into water its volume gets reduced. Similar property is shown by a

metal when it goes from its solid state to its liquid form. This metal is —

copper
aluminium
zinc

cast iron
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Which of the following option correctly represents the impression of the letter P

formed in a pinhole camera?
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A man stands 2 m away in front of a plane mirror whose reflecting surface is kept -
vertical. He then moves 1.5 m towards the mirror. The ratio of the distance between
the man and his image for his initial position and for his final position is given by —

A. 41
B. 3:2
. 3
D. 2:1
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A 15V

B. (1.50V
C. (1.5/4)V
D. (4x15)V

If fpur common dry cells, each having a potential difference 1.5 V are connected in
series, what will be the potential difference between the two extreme ends of this
combination?

A. 15V

B. (1.5)V
C. (1.5/4)V
D. (4x1.5)V
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Origin of emitted or absorbed heat during reaction is —

breaking of chemical bond
making of chemical bond
both A and B

condition of reaction
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Which of the following decompositisii reastion is not a redox reaction?

A. MgCOs 2> MgO + CO; (by heat)
B. 2H;02 = 2H20 + Oz (by catalyst)
C. 2AgCl > 2Ag + Clz (by light)
B 2H,0 > 2H, + Oz (by electricity)
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A. foTsb

B. AL
. C. WA 1S
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S Which of the following objects is different from others in some respect?

A. Pipette
B. Burette
C. Measuring cylinder
D. Common test tube

14. fAT5a (@M 0 30 F9- 21756 Hirgfoe AfFwe
A. of&fe= (PE)

@ S
D. e fSR1ZA (FTARG (PVC)



- &0 Al

15,

16.

Dy

17,

Which of the following materials is a non-plastic synthetic polymer?

Polythene (PE)
Nylon
Cellulose

Poly vinyl chloride (PVC)
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Which of the following spatial arrangements is appropriate for carbon atoms in
diamond?

A. Hexagonal Planner
B. Octahedral

C. Trigonal Bipyramidal
D. Tetrahedral

N6 @ NG HTF T2

% KOH
B NaOH
~ CIOH
. LiOH 3

Which of the following compounds is not an alkali?

A. KOH
B. NaOH
C. CIOH
D. LiOH

farsa (@ (NS g0 e waERe?

2 Al,03
B. FeiO4
C. P20s

D. Mn207

Which of the following compounds is a mixed oxide?

A. AlLO;
B. Fe304
C. P,0Os

D. Mn;0O,
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Which of the following allotrope of carbon is used for preparation of Gas Mask?

A. Charcoal
B. Graphite
C. Diamond
D. Gas Carbon
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Which of the following reactiors is ‘commonly used in the laboratory to prepare
carbon dioxide gas?

A. Heating ammonium iitrate

B. Reacting calcium carbonate with hydrochloric acid
C. Decompositior of potassium chlorate

D. Reacting zinc with sulfuric acid
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Based on your understanding about electron, which of the following statements is
incorrect?

A. Electrons are negatively charged particles.

B. The mass of an electron is almost the same as that of a neutron,
C. Electrons are found in all atoms.

D. Electrons revolve around the nucleus in specific orbits,
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A .\'+:+2
B. x2+—
o
C. .\'+l—2
X
D x=2
X
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One of the factors of (XZ - 2x + —‘; -4 2) s —
X x
A X % +2
B x*+ lz
X

C.x+1—2

X

D. x—-l-

X

a*b=6ab—%+55€'ﬁ,8*% GERICEGE

oOowp
Nl Noio ™=

The ratio of an exterior angle to an interior angle of a regular polygon is 1:4. Then the

number of the sides of the polygon is -

A, 15
B. 10
€. 20
D. 30
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The sum of two rational numbers is — . If one of the numbers is — 5=, then the other

number is — % . Then, the value of 2k is -
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A. 600 km
B. 1400 km
C. 1300 km
D. 1200 km

The scale of a map is provided as 17 30000000. If two cities are 4 cm apart on the
map, what is the actual distance between them?

A. 600 km
B. 1400 km
C. 1300 km
D. 1200 km

R ¢ G2 b OETR NP TN G M 502 + 6ab + a = 3 432
5b% + 4ab + b = 1 T, O (a + b) I VA L -

A3
4
B. -2

C. -2
D. -1
If a and b are both negative numbers and if 5a® + 6ab + a = 3 and

5b% + 4ab + b = 1, then the value of (a + b) is —
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A. 3.143
~B. 3.1

1571

500
— 6°
B ==

20

Which of the following option is a rational number between the two rational numbers
22,
3.14 and = ?

A. 3143
B. 3.1
c. =2
500
D. &
20

28.  3ab?,12a%b3c 8 15a%bc? 9 N8 2 -

~3ab
B. 3a?bc?
C. 3ab?
D. ab

The H.C.F. of 3ab?,12a*b3c and 15a%hc? is —

A. 3ab
B. 3a?bc? ‘
C 3ab2 A

- -
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C. 60 %\(ﬂ,@

D. 50

In an 80-litre mixture of acid and water, water is 75%. A person gave 40 litres of this
mixture to a customer and then added 10 litres of water to the remaining mixture. The

percentage (%) of water in the final mixture is -

A. 90
B. 80
C. 60
D. 50
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A. xy(x? ' + y?)
B. 2xy(x? +y?)
C. xy(x?=y?)
D. 2xy(x? - y?)

The lengths of the sides of a triangle are x? — y?%, x% + y? and 2xy respectively. The
arca of the triangle is

v
A. xy(x? +y?) 2025 00202500000 602625
B. 2xy(x? +y?) .
C. xy(xzz—y“)2
D. 2xy(x*~ %)
|29 Y
31, 21994 4%97 4 %65 = 16" (A, x I N ¢ - (bg);
A 4 O :
C. 49
D. 499 /ﬂ/’g”;-):

21994 4 4997 4 8965 = 16*, The value of x 15 —

0. O
The remainder when 202 0250002025002025 is divided by 6 is —

g‘]) EOO»O
C. 2 5000
D. 3 Q_O
B
/T
B
580

f ' 14
T e }

— 1
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The length of the hypotenuse of a right-angled triangle is ¢ and that of one side is a
being two consecutive integers. The square of the third side is —

G =0
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In a pentagon ABCDE, 2D = 2B and each. of the other angles (£A, £C and £E) is
equal to half of the sum of the angles 2B and £D . The largest interior angle of the

pentagon is —

A. 108°
B. 144°
C. 72
D. 136°
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A. 899999
B. 887654
C. 975309
D. 885309

The difference between the largest 6-digit number with no repeated digits and the
smallest six-digit number with no repeated digits is —

A. 899999
B. 887654
C. 975309
D. 885309
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Which of the following diseases is spread through infected rats?
A. Dengue

B. Sleeping sickness

C. Malaria

D. Plague
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Small pores on the surface of leaves are called —
A. Stomata

B. Thylakoid

C. Chloroplast

D. Chlorophyll
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Which of the following organelle is also known as suicidal bag of the cell?
A. Endoplasmic reticulum

B. Golgi apparatus
C. Lysosomes
D. Nucleus
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A. ARG
+) ) & e
C. i
D. f3pRoifA
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Which of the following endocrine glands secretes the ingulin hormone?
A. Thyrod
B, Pancreas
' Adrenal
D Pitotiry
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Agricultural scientists have created “Golden Rice” to meet the demand of
A. Vitamin A
B. Vitamin C
C. Vitamin D
D. Vitamin E
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p. s

Which of the following is not a greenhouse gas?

A. Carbon-di-oxide
B. Nitrous oxide
C. Oxygen

D. Methane
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The carps are classified into major and minor carps based on the characteristic feature -

A. Size in adult stage

B. Layer of habitat of adult fish in a pond
C. Type of scales in the adult fish

D. Feeding habit of adult fish
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The type of aquatic organisms which floats in the different layer of water but cannot
swim against the water current is called —

A. Fungi
B. Plankton
C. Squid
D. Algae
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Which of the following minerals help in regulation of water level in our body?

Calcium

Magnesium - -
Sodium

Iodine

oowp
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A. THFOEN
WB. RPN
C. (*[e

D. QAP

Which of the following organisms can serve as an indicator of air pollution?

Bacteria
Lichen
Algae

. Fungi
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Among the two parts of your body, in which pair would you find diaphragm?

A. the mouth cavity and the nose cavily

B. the chest cavity and the abdominal cavity
C. the oesophagus and the trachea

D. the heart and the lungs.
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A. ii=Div>iDiii
== B i->ii>ivii
i D iDiii D v
D. iii >iv>1ii
Arrange according to the increasing complexity of the organisation in-a body
i. Lungs, ii. Respiratory system, iii. Flat shaped cells, iv. epithelial tissue.
A. ii>iv>iDiii
B. i=2ii 2 iv2iii
e iiDiDiiDiv
D.iii=2iv>i=2ii
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Which of the following animals is the example of an invertebrate marine animal?

7 Jelly fish
B. Shark
C. Hatchet fish
D. Whale
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The idea of vaccination was first conceived by -

'\9/ Charles Darwin
B. Alexander Flemming
C. Issac Newton
D. Edward Jenner
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in the forest
~“Plants like Arjun. Amla (Indian Gooseberry), etc. are usually found In
called -

. Deciduous forests
Evergreen forests
Mangrove forests
Thorny bushes

cow>
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